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General Instructions :
(i) The question paper comprises of two Sections, A anc B, You o o afemet Dot e sactons
(ii) All questions are compulsory :
(ili) There is no overall choice

jon-@fre o De aNeTDleC separately

(iv) All questions of Section-A and all Guestons of Sect . 4
jon-A are one mark gues s Trese o= 10 e answerad n one word or in one

(v) Question numbers. 1 to 3 in Sect y

sentence. W A\ _

(vi) Question numbers 4 1o 7 in Sections-A are two marks Juesigys  Tese we D De snswered n about 30 words each.
8 10 19 in Section-A ars three mark gfestirs These are 10 De answered in about 50 words

(vii) Question numbers

each.

(vii) Question numbers 20 1o 24 In
each. ,
tpie choss % Dased on prachcyl skills Each question is a

(ix) Question numbers 25 to 42 in Section-8 are MU > b
one mark question. You are to gelect one Mos! approonas ’uutc-.tﬂnj\lﬂ“ f v four provaded 10 yOu

Section-A ae five marks p, b These ae 0 De answered in about 70 words

W | SECTION-A

1 ﬁmmmuﬁwﬁwfnﬂmfw'ummh
Defme molar mass. What is its urut.

2 Wnte difference between ytes and Prendophytes.
iz Al qon 2Rz dhil s =R F

3 Wtaaﬂtmmmmﬁmmtmm

gl |
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ZalPOuk ) (NHHSO. N Al©OH:
;hMMManWWS
i  ZadPO): ® (NH)SO, (9  AlOH)

& §owrs T W RS CasO, ¢ @ $fem % sy @ b
-wmmnmva?

# bwmwcnl formada of calcnmsulphate is CaSOw What is the valency of Ca
-t -ﬂwﬂhﬁuwhmhdm#?
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(1) Bypk +8apnA @ Syt +t9apy

B} 184y + 23 @ Wk + W=
Hebum atom has 2 electrons in its valence shell but sts valency 1 not 2
Explan.

Wil ”CIN and WC!Q have different valencees ? Justify your answer
Choose the the followmg macley

(1} Sp+8n 2 Bp+m
&) 1sp+zz,d) #  20p+20m

11 Distinguish between :

12

What are the two ways by whah s duwawe can be

trealed’

Exphmlrwmodtdxg:’:qdmhhh
mﬁ%awzﬁd'!w#i!?
aarE Ara & e ewh W nd‘u-
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Define reverberation. Is 1t related to the curved surface of sudstonium ? Why
Sometimes sound absorbing materials become necessary in auditortum ?

15 99 fro o g=w wEn § www afed I F A % fu T # wn
LEIER
(a) #TF W A gF WOoAw g fEm ma w5
)  fEwl feg wm T3 W yEe @ 3 fE o
© TAEfEE v gEw @ aa qma 32 5o w

State the nature of work done in the following cases giving justification for "‘

each “~ 0O

(a) When a 1 on the road, work done by fnction. 2| T

(b)  Work done \g a heavy fixed rock. C(\”\.‘!’

()  Work done by ce m hfting a heavy book from a table. tLﬁ '
16 f&# 77F #92 & TR A o ¥ ® [T eTan 3w oafl 9

AFE O H/ R PTATGCH 151338

Compare the frequences of A and C played dunng a mumncal concert
whmﬂ\espedd-o.td-mn/-m avelength of A and C are 15 and

1.3 respectively

17 7! foox ferdt wim 73 @ W 0w m%n:-tﬂwl w fovx & g
fFan w7 o o B wfR @ g T W =T WA W 3 ey
T A AW A W W O ey T SRR R LR BURE L
¥ fay favz w ferm WA s fem wa @ % e § 49 @
qfz w1 afen #1faw)

A body 15 moving at constan! speed over sarface, what © the
mkdarbyrl’ﬂﬁnmdnwm eof ¥ N onthe
body after some hme, what should be the that should be
continuously supphed to overcome the nchon mwuntam a constant

veloaty of ‘v’ m/s ? Justify your answer m each case.

fei o3 ¥ 39Ew 79 aw ¥ fafavw ¥ @9 = onan £? sfea o

aaaE
(b) A ¥ @ = g § A W N wm v e e
What s the relahonship between availabiity of water and
wodsversity m an area ? Explan m bref
%thmmuwmmuemhnd’

18 (a)

(a)

(b)
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| 3

Kapesh hved m a village which was pollubon free. visated am
mdustnal aty dunng winters and found the visiuhity very pocr

Many chuldren were showing signs of allergy. What could have been
the reason” Suggest any two ways by whxch could have hefped =

unprove the situahon

A \mmwm)mtdmnﬂﬁmaﬂmt.

\\thlhrhdpdmrhwlywnfy&utﬂ#nmch-grmﬂ—'h-.
Mwmldungﬂdnmrduth)tnksplm

AN Y Whuch orgamism 1s more conlplel nnd evolved among

bactena. mushroom, and mango tree. Give reasons|
™ bﬂwtﬂmmhmmmtutﬂm

Mﬁmmammmhﬂnﬁ:wnmm

v fasfen § 7 v fafae
™ ﬁwﬁwmmﬂwﬁmmm‘if

a)

g9 Y

n @ ¥ e fafe
™ Mwﬂwmwr{tmml“c“h
©  SiH v w1 ares fefan
@ m-ﬂmﬂﬁngmmwﬁduw-ﬂh --

Define densaty ?
(l‘:l) D.utyohz:hl-wna-dmmm*
©  State urut of density m Sl
) me@&ﬁﬂuhh.padw
knowang its densaty ?

23 T SRS ¥ TWEE A 9§ T 3 R/ TS ST
w&meMdhﬂﬂﬂhh’d.
babwded daagram.

nt?@mtﬁhrﬂumtﬁ(
* w"" three efbects af soul poliatxs

Page 2 3
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WT-¥ | SECTION -B

3 AR 1 7 A X T TR R R e TRt o ke

(@ T=mm ®
() 3=t (d Ty
_Dnringwnwmolion'X'ismfenvdﬁmnumbm.x.
is :

(©)  energy (d) wavelength

26 Four students P, Q R and § are observing the feeding habits of all the
developmental stages of mosquitor”The stage in which it feeds on animal
blood 1s :-

P:egg

Q:larva

R: pupa

S : adult ;

The correct observation is of student : - .

) P ® Q (©) R J& S
2r famdi P, Q R 741 S Tt & wras wF wfafw= frwm sl ¥ dwm

Al 5 dww w7 ¥ 3R See few e fad fre s F sww s

i emtaw d -

P: 3E]

Q:fi%

R:9

S: D

fom o s v wét R ae b

@ P ® Q © K 7%

27 #éﬂuqauﬂmﬁamﬁtmamdhﬁa(mh‘tmmt:
(A)  TE ¥ O ¥ A UM & ogas v Pl wat
(B) HEARNIIR FR F1 AFFel x Fa¥
(a) FTA(A)TAY ® F@Tt
) 2ri(a)au(B) sa L @ Fa)Iimuat
L'pthmst\'uwsasabodymmto{ﬂzeﬁqn'das:
(A) itdepmdsmmmermdvohmtakme
(B)  Volume = area of cross section x length

ts correct
Only (A) 1s correct (b) cn'ly(B)sc .
(‘:; both (A) and (B) are correct (d) neither (A) nor (B) s correct

Page 6 of 13
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WA 30 73 3 o & 70 3 frfafes vgais @ fe

(1) 79« F17@9R=81g

2) fafdz7 8 gt % @ F) Tgai @7 eE ¥ =54 mi
@ et ol F @ IEER TS F 91 =63 ml

27 Nawl F wyWE T TES ¥ T FT A R

(a) 1500 kgm ~* (b) 6000 kg m"?
(c) 7000 kgm™* (d) 9000 kg m~>

While determining the density of the material of metallic sphere using a
spring balance and measuring cylinder a student noted the following
readings:

(1)  Mass of(the sphere = 51§

2) @ Readifg, of water level in the cylinder without

spherd <31 ml
(i) Readmg’of water level in the cylinder with sphere =63
nﬂ ﬁ"-‘:.‘s'p.... “
On the basis of these obéervations the density of the materal of the
sphere 15 :

(b) 6000 kg m™?

(a) 1500 k gm™*
(d) S000 kg m™?

(¢) 7000 k gm™*

29 ifmmzmmamhﬁﬁ‘ 2 ok ¥ N A rw B W AR e H

o for wm d dat B wm‘; A ah

iz A %1 ¥ 0 v = W,
FZAFTIAAT N = w
1
iz BH TT R W = W3
iz B TAH W1 = W,.
(@) (Wi — Wy')=(W2-WY) (W) _W1) > (W2 - W)

@ (Wa-W))>Wi-Wi) (D) WipW;
TmnwvightshvombdhAuﬂloludufmmdScmm.

first in air and then m water. She takes the readngs as :
Weight of ball A n air = Wi
Weight of ball A m water = W

1
Weight of ball B in air =W
W@ldhﬂBmm = W,.
She would find that :

@ W —Wi)=(W2-W2) (M W - W) > (W2—WY)
() (W1 - W) >(Wi-wr)  (d) Wi>W2
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' = easeer YO W I 4

L3

™ wea water buoyant force on the swimumer.

‘s the densaty of 1s less.

d the sea waler wﬂdaﬁityexﬂbbuwdw
fogoe on an obyect water having lower denssty.

) \ .
AMM&M(&MW‘M xb'cn » W0om

mammh:ﬂém‘d&'mwmsﬂawqu
rm-&whm&ns—\d its of dimension (a) 4 cm ¥ 5=
“:-Gcn/mcn(cslcmﬂlo the density of won = neerty 3

g:n"nds = mnuzthtm@u\dmmmn
Mwusmmh- :i
(b) -_. -. -

: 16 N "2 #0 N 7?

'

o &80 Nm 2 1600 Nam? (d) m " ?, 8000 N "2

W‘ﬁﬁﬂmﬂmmf‘ loﬁ:nll:c"
= p‘:wirut"nﬁwuzim.;?vhwr:ww
tx vy frfw= Tl fave Pt () 4 om h‘?ﬂ»bm « 19

’luc;u-x:om!wnmfzttwhmw(w.p-tg
‘?tihﬂqummmvmh

g = 10 o
w16 Nen L 0N M 3 Nm !, 80 Nm !
< 640 Nm L, 1600 Nan ¢ (d) 3200 Nm 2, 8000 Nen " *

:!-neun-ldamlndmdnmbmundmhi'd-&h

=
Fﬂﬂmﬂhﬂl:ﬁﬁm&!s&ds:
w m/A N/ ®) mg/A N/o¥
- ogA N/m d) mg/ALN/mY
ﬁ:.pﬁﬂuu—Atmuﬁwvhwmﬂl-ihvn
@ /A N/ [\ ug/A.N/n:
o A N/ d mg/AlN/=r
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B af O A ow wiz w1 T I8 I F S
@) Frm v@ B 20§ gz 1 ¥ T e w9 afe
() mwftaﬁﬂﬁﬁwﬁtﬂﬂmwfu.
(c) frm W ) WA g w2 ¥ T TF § B T v
(d) mwmmmﬁmmmhwmh
finding the veloaty of a wadhmshamm
:: Stopthe m&mMMﬁmmm
\9)' Stopmt:h;hmaldbtsutdmnmw—hwhm.,ut.wb

one end of the string,
(c) Stapwntd\mddbe;md&rﬂmdd:nfﬂ“bgm

(d) Stopwut:hmlybemﬁ'dntmmedrmwh
cmvmmdmem

34 wmmmsuEEl:

(a) m 7 fb) m::‘
(c) kmh™! a7 ms
The SI unit of wave veloaty s )
(a) m {H m.‘
(c) kmh ™! & uu

e Quhhumwudmm:“hmnhpmmm
spemmnslu}motnuvvdu \

; funana
fem (b) spwogyra ()  agancus (d
:;aaﬁ!na{iiwﬂmrﬂtﬂmmﬁziwﬁﬁh!ﬂl.
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36 The given figure is of funaria - mass plant. The parts indscated by letters
A, B, C and D represents :

-3

(a)  (A)Foot (B)Rhizoids (C)Seta (D)Capsule
(b) (A)Rhizods (BjFoot (C)Seta (D)Capsule
()  (A)Rhizoids (B)Séta (C)Foot (D)Capsule
(d)  (A)Foot (BjSeta |\  (C)Rhizosds (D)Capsule
fora T fia P UE oo @ b1 TRE v A B CIM DR AL

(a) (AR (B)™ CFRfrsra (D ¥
®) (A (B)¥1= C)frega (DA ¥
(€©) (A)FEN @BrFfesga  (C)IR (DT ¥
(d) (AR ByRfeFEa  (C)FE™ (DA ¥
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37 Anurﬂabeﬂedouﬂmedhgnmdmuxthmbmm.m
important feature to be drawn and labelled for placing the earthwaorm m
itsphyiumis:

S Sk £ il
«._L_m:.r:‘

<
(akyé Oxlitellum/  (annub | (s
fa § #u #1 wvrm AvEAqm T ¢ faed wm AR @ IRE
] Tgeryl T B Fad e T E wres § oo g, fed gt e
amsmmwrmmfsmmvacnawt

;JQ
[.f' f

L |
. (3
\.‘\‘f)'

(a)377@ (byFATE2Em 1cr}_q-=ﬁi e (drpa

ke

——

38  An arumal covered by chutm covenng having wings, anterna and omted

legs s
(a) Cockroach (b) Flat worm (c) Leech (d) Neress

we 3 ¥ ¢ faT¥ vm 0 €, wfm o am g @ ¢ aw wifE A TE W
t
(a) ®IFTI ® TR (@ WIF @ W™
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9 WWmmﬁmwmmwmtmm-mm
f‘fmmmnmgmmm>mmmmmmw;
¥ ZHTHR AwA TraryEE W o) W frad g e
@) AT A W romE = AT AT T EINA
)  WifEEy Mz w ZeNA = SfEa IS ¥ TN
(<) (mm+mm)mm-(mm+mmm

ZSHA

(d) <mrzz+azm_mm-(mmz+mmm

4 1E
Amchonbemh;dnimtemdsodmmchhﬂdewucuﬁedmnudedm
Mkmmmesofﬂ\ernchnb(sodnm\dﬂoﬁdemdhadmm}nﬂh
products (lead chloride and sodmum nitrate) were measured carefully. The expected
cmhutonof&we.\penmmtmustbt:

(a) Mass of lead nitrate = Mass of lead chioride
() Mass of sodiuat nutrate = Mass of sodium chloride

i(/C) Mass of (leads nitrate +sodium chloride) = Mass of (sodium mtrate + lead
chloride) » L

(d)  Mass of (lead nitrite +lead chlonde) = Mass of (sodium nitrate + Sodsmum
chionde) L

40 wmmim.m.imﬁmthWﬁaﬁ
2 i T s e e 4 6
A m*gﬂﬁﬁm s € o
B: mmmﬂﬁm;mhﬂﬂm;
c q‘atmaammmmmm
D T w1 mpers e § v
ummmmWﬁﬂnmt._dl,

@ A ® B g, C @ D
Tovmfywhwdwmdmuq_lwumhud—

the following cheanscal read tums s the shoal boratory

Added zinc granules to dilute uw*"&n J
Addedcoppﬂw-ahm:nhuﬁnm-nhh-

A

B

C: Pmcdcubmd:mddc”md\mm _
D Added lime stone to dilute hydrochlori acid | 4

(@) A ® B ] c @ D

41 The feature not found in monocot plant is :-
(a) Fibrous root
(b) Parallel venation
(¢) Presence of two cotyledons in the seed

(d) Tnnmw.sﬂm\eﬁ i
Ws?'?z?mﬁﬁrrm:-

(a) TITs b) FEIOTINE
© TFRITTES (4 I
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42 Whes ,msh, 4} fihe/ development stages in the life cycle of a mosqsta, YOu
find that the stage i which this-organism mmmwm s
() adult ®) lava [ [ [O pupa exz

Wwﬁtfﬁmmftnwﬁmwwﬁsﬁtwr wmwr t ©7

. _
(@ T (b) o @ 7@ o T

.000-
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